Math 262 — 30 September 2019

2. Among persons donating blood to a clinic, 85% have Rh" blood. Six people donate blood at the
clinic on a particular day.

(a) Find the probability that at most three of the six have Rh* blood.
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(b) Find the probability that at most one of the six does not have Rh* blood.
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(c) What is the probability that the number of Rh* donors lies within two standard
deviations of the mean number?
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(d) The clinic needs six Rh* donors on a certain day. How many people must donate blood to
have the probability of obtaining blood from at least six Rh* donors over 0.95?
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